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A : B = a : b B = Ab/a

a b

c d b 6= c

bc ac bd

20

26



63 9 7

63/(9+7) 1

1/7 1/9 1/( 1
7

+ 1
9
) = 1/( 9

63
+ 7

63
) =

63/(9 + 7)

a1 b1 a2

b2 b1b2 a1b2

a2b1 b1 + b2 a1b2 + a2b1

(a1b2 + a2b1)/(b1 + b2)



0



a ≥ 0 b > 0 (+a) − (±b) = a ∓ b

(−a)− (∓b) = −(a∓b) a ≥ 0

b > 0 (+a) + (∓b) = a∓ b (−a) + (±b) = −(a∓ b)

π

a : b : c =
1

2
(m2 − n2) : mn :

1

2
(m2 + n2)

(c+ a) : b = m : n m n



a b d

d = 2ab/(a + b + c) c =
√
a2 + b2

∗

a1 b1 c1

a1 : b1 : c1 = a : b : c a1 + b1 + c1 = a

b1 = ab/(a+ b+ c) d = 2b1 = 2ab/(a+ b+ c)

∗



BC a DC ′ k C ′A′

b′ x

x2 + (a+ k)x = 2ab′

ABC A′B′C ′ BC : BC ′ = AC :

A′C ′ a/(a+ x+ k) = 1
2
x/b′



′ ′ ′



ab

2ab d =

2ab/(a+ b+ c)

BEA′C ′ BEA′ BC ′A′

AGA′ AFA′

BEGC BHFC ′

x
2
(a + x + k) = ab′ HD′F ′F 2ab′

x2 x(a + k) BC DC ′



= × / +

= × /

MKLI = GIDB NJOH = GHCB



MKLI − NJOH = HIDC

× − − × −
= ×

= × / − +

NJOH = GHCB

× = × −



1/3

1 2

3 4 1 2 6

4 6 12 36

24 10

3 1 8

1 1

1/6

(2a2 + a1)b2h

(2a2 + a1)b1h

V =
1

2
(b1 + b2)ah,

b1 b2 a h (b1+b2)/2

(b1 + b2)/2

a h



A

a1

A = a31 + 3a21x1 + 3a1x
2
1 + x31,

x31 + 3a1x
2
1 + 3a21x1 = A− a31,

a1 A − a31

x31 3a1x
2
1 3a21x1 x1

1

S =
1

2
Lr (1)

S L r

L S

r 1

π = 3



1

6 · 2n (n = 1 2 3 · · · · · · )
n

0 6 · 2n

Sn

n→∞

Sn = S

rn

ln rn lnrn Sn Sn+6·2nlnrn > S

Sn + 2(Sn+1 − Sn) > S

n→∞

rn = 0
n→∞

[Sn + 2(Sn+1 − Sn)] = S



S =
n→∞

6 · 2n · 1
2
lnr =

1

2
Lr

1

2

Vb =
1

6
abh, (2)

a b h

Vy =
1

3
abh (3)

a b h a 6= b 6= h

2 3

Vy : Vb = 2 : 1 (4)

4 Vq = abh/2

2 3





′ ′ ′ ′

′ ′

′ ′

2 : 1 ′ ′

′ ′

′ ′

3/4 4 1/4

1/4

2 : 1

2 : 1 1/4

3/4 4 1
4
· 1
4

4

4

4

3

a 6= b 6= h



V =
9

16
D3

D

π : 4

π : 4



π : 4

25 : 314 1 : 4π

π : 4

4

1

π

2 r

6 · 2n ln

6 · 2n+1 ln+1 l1 l2 l3 l4



96(= 6 ·24) S4 = 313 584
625

2
192(= 6 ·25)

S5 = 314 64
625

2
S4+2(S5−S4) = 314 169

625
2
> S

314
2

S 1

π = 157/50(= 3.14)

314 4
25

2

π = 3927/1250 l8 S9

√
N

.
= a + r

2a+ 1





53 52

abh
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[4] 2

[5]
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[9] 7

[10]
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[46] 1989

1


